Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - V-EXAMINATION - WINTER 2015

Subject Code: 3352904 Date: 10/12/2015
Subject Name: Production Planning
Time: 10:30 AM TO 1:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Q.1 Answer any seven out of ten.

Name the universal count and define it.

Define Denier count.

State English count (Ne) equalant of 53.15 Denier count.
State fine count from 40Tex, 40Denier, 40Ne, and 40Nm.
State basic difference between woolen and worsted count.
State production formula in Kg of Rotor spinning machine.
State production formula in pound of comber machine.

State what is Heald count?

State what is Reed Count?

State the waste norms of Blow room and Card for 30s cotton count.
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Find the relation between Tex and Denier.
OR
Draw lay- out of Two warping machines.

Q.2

—~ —~
QD QD
Rt Rt

(b) State the spinning sequence for cotton carded yarn.
OR
(b) State the spinning sequence for open end yarn.
(c) Calculate time required to prepare one lap on blow room from the following

data.

Lap length: 60 yards Calendar roller diameter: 7 inch
Calendar roller RPM: 10 RPM Efficiency: 80%

Tension draft between CR and LR : 1.08

OR
(c) Calculate time required to exhaust one lap on carding machine from the
following data.
Lap length: 50 yards Draft between doffer and feed roller:80
Doffer diameter: 27 inch Doffer RPM: 20 RPM
Efficiency : 90%
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Calculate time required to prepare one roving bobbin on speed frame from the
following data:
Spindle speed: 900 RPM Weight of roving bobbin: 2.5 Kg
TPI: 1.2 Hank of roving: 1.3
Efficiency : 85%
OR
Calculate time required to prepare one ring bobbin on Ring frame from the
following date:
Spindle speed : 18000 RPM Weight of Ring bobbin: 150 gm
TPI: 30 Count of yarn: 50 Ne
Efficiency : 80%

Draw lay- out of Two Draw Frame machines.
OR
Draw lay- out of Two Carding machines.

Calculate time required to prepare one cone on winding machine from the
following data.

Speed : 1200 YPM Weight of cone:3Kg
Efficiency: 80% Count : 40 Ne
OR

Calculate time required to exhaust one warping beam on sizing machine from
the following data.

Yarn wound on a warping beam: 10000 yards

Speed of sizing machine: 100YPM

Efficiency: 50%

Calculate number of looms for production of 4000 yards of shirting fabric
from the following data:

Loom speed: 230 RPM Efficiency: 90%

PPI: 80 Working Time:22.5 Hrs

Draw lay- out of Two winding machines.
OR
Draw lay- out of Two Sizing machines.
Explain the need of gearing techniques in Textile manufacturing machines.
OR
Calculate the loom production in meters per shift of 8 hours, if the loom runs
at 150 PPM and 90% efficiency. The woven cloth contains 20 picks per cm.

Draw lay- out of 20 Auto Looms.

Calculate weight of warp from the following data.

Total ends : 4000 Tape Length: 25 meters  Warp count : 10 Tex
Calculate weight of weft from the following data.

Reed Space:130 cm, picks/cm:30, Piece Length:20 meter, Weft ount:10Tex
Define Cover Factor.

State the procedure to set the GSM of fabric.
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